Calculus Test 4 Prep
**Review forQuiz 11 (Sec 5-1 to 5-4)**

fopic: Inverses (AP Book section 5-3, Sinclair Book section 6-1)

17. Assume that f is a one-to-one function.
(a) If £(6) = 17, what is £~'(17)?
(b) If £71(3) = 2, what is f(2)?

39-42 Find (f"){a).
39, f(x) =3 +4ds’+6x+35 a=°"

Use the following table to answer questions 1 and 2:

X 1.8 1.9 2 2.1

2.2

(x) 8.2 7.8 8 8.1

7.8

1. Estimate f'(2)

2. Estimate (f*)(8)

43, Suppose f ' is the inverse function of a differentiable func-
tion f and f(4) = 5, f(4) = %. Find (f )(5).

a5 1f f(x) = [T+ 17 dr. find (f7')(0).
Challenge: .




Topic: Natural Log (AP Book section 5-1 and 5-2, Sinclair Book section 6-2*)

Differentiate the following:
19. f(x) = sin(ln x)

22, y = —-
Inx

Find the equation of the tangent line to the curve at the point:

48, y = In(x* = 7), (2,0)

Integrate the following:
r2dt

&7, .
Jt 8 — 3¢

«COSX
73, e (X

2 4 sinx

» i




Topic: e*x (AP Book section 5-4, Sinclair Book section 6-3%)

Find the derivative:
47, F(t) — é}min 1

48. y = e* cos(1 - e™)

56. Find an equation of the tangent line to the curve
xe’ + ye' = 1 atthe point (0, 1).

87. f ' JT T e dx

* 44
91. | ——d,
j (l — 8“)2 u




Graphing calculator allowed:

1 What are all values of x for which the function f defined by f(x) = (x? — 4)e”* is decreasing?

2 The slope of tangent line to the graph 3x — 3lny = —6 at (-6, 1)is

3 Find the average value of the function f(x) =2 on the interval [2, 4] and-expressin-perfect-form-tre-decirral—
imations)

4 Ify = x*e* describe the interval on which y is decreasing.



5 A. particle moves along the curve y = xzj As the particle passes the point (7, %), its x-coordinate is
increasing at the rate of 8 units per minute.

a) How fast is the y-coordinate of the particle changing at this instant?

b) Write an accumulation function called A(n) that will find the area under the graph of y from 0 to n.

c) Find A(7)

d) Find the rate of change on A(n) as the particle moves through the point (7, %)




Calculus Test 4 Prep  __ |, - }@\
**Review for Quiz 11 (Sec UAMHIeb)**

fopic: Inverses (AP Book section 5-3, Sinclair Book section 6-1)

17. Assume that f is a one-to-one function. —F -F

(a) If £(6) = 17, whatis f7'(17)?=6
(b) If f(3) = 2, whatis f(2)?= % (6, (N, 6)
(2. 53 (g IZ>

39-42 Find (f ")'(a). I ¥
39, f(x) = 3x* ; 4,\:{ 6y + 5, a=75 (o '5) (5,0)

' - X‘\"é - L
-Y{F)-Ol?& + clote = b glofe= 7
£z 6 .

1
Use the following table to answer questior!s 1land2: ‘\ﬁ\
' X 1.8 1.9, 2 2.1 2.2

f(x) 8.2 7.8 8 8.1 7.8

l |
: ) 7.3-8.] ::—§—~:[.5
1. Estimate f'(2) |6 -2 | "2 .
+ f
2. Estimate (f1)'(8) ( 2 .8 3 (?‘2.3 -
Sofe = 1.5 Slope= 2
z

43, Suppose /' is the inverse function of a differentiable func-
tion fand f(4) = 5. f(4) = 3. Find (f )(5).

45, 1f f(x) = L T+ 27 dr, find (f)(0).

Challenge: 1
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Topic: Natural Log (AP Book section 5-1 and 5-2, Sinclair Book section 6-2%*)

Differentiate the following:

19. F(x) = sin(ln x) ' }
’Q‘\ﬁ> = (/dS(/""K> ?

| —Mnx (TL>

22,y o=
: Inx

-, _ _’_‘______f____
[1nx) y'= x (1ax)*

Find the equation of the tangent line to the curve at the point: >
-2 (x-

48. y =In(x' = 7). (2.0) Y- 0O = —
- X7
y'= S5 gx
R >-7 2
at x= 2 -—33—@- , L&— 2
2% '

Integrate the following:
67 "2 dt M:gpgi

g - 3 O{M:’Sa/f;

cos X "
7 . ’ ——«-—-v—_"—‘"‘(.\
J 2 4 sny

S%\,JM = n {%) =



Topic: e™x (AP Book section 5-4, Sinclair Book section 6-3*)

Find the derivative:

47. F(Z) — C,Ix'm';

'(L:Srf\ 2t coS 26 2>
@)= (Jom2t+ £

48, y = e* cos(1 — %)

ZK> t+-e 6/”0'62K> <">&(a\>

NI
+2,e 7 Sin e

e}(wﬁc" >+2 *sin(l—<
& (costi®) 2627‘(5’\"[[~62K>>>

56. Find an equation of the tangent line 10 the curve

xe’ + W‘ = | at the point 0, 1). . \/_, | _:(:/;e>(><—-0>
le pxey’ #ylettye =0

Lo F oyl o
e + yt1=0
iz -l-e
K
X X : Uuz= l+~6
87. [T+ ev dx e
‘fzp{
Ju du ¢
2 9, () TC
3
M:I'—@v‘

91. f — “)2 du dV: _ eqo/m
-’UI\/: eug/M
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Graphing calculator allowed:

1 What are all values of x for which the function f defined by f(x) = (x? — 4)e* is decreasing?

de,/‘;\/ /S /leil)
-3 234, /_Xé— j 23é
So b e doc. on +hri5
Y J\,\_}e,refm].
i

N

> 3 Find the average value of the function f(x) = 2 on the interval [2, 4] and express in perfect form (ne-decimal
~approximations)

1
2

~

(.31

{
¥ 4 Ify=x%e®™ describe the interval on which y is decreasing. (hc? V(Z“’m‘/ q////vx ‘ )

2
\/‘: er "k x e x(?z>~ . 0&
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. 2 . .
5 A. particle moves along the curve y = o As the particle passes the point (7, %), its x-coordinate is
increasing at the rate of 8 units per minute.

a) How fast is the y-coordinate of the particle changing at this instant?

¥

SR

b) Write an accumulation function called A(n) that will find ‘ch(g.I area under the graph of y from O to n.

Atn)= S

c) Find A(7) | SZ xi’ ; Ax
Ldqg = 2 [n /“} K
2 S«
u= x+/ 2)”/7(7"/)
ol =dx Y159 -0 =418

d) Find the rate of change on A(n) as the particle moves through the point (7, %)

N
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5?(7 0 5
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